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Part T 1E:k£E# 53850 (Grammatical
Structure and Vocabulary)

Section A Multiple Choice

Directions: There are 150 incomplete sentences. Beneath
each sentence you will see four words or phrases, marked
(A), (B), (C), and (D), Choose the word or phrase
that best completes the sentence. Then, on your answer
sheet, find the number of the question and fill in the space
that corresponds to the letter of the answer you have
chosen.

I,

____that the English settled in Jamestown.

(A) In 1607 that it was (B) That in 1607

(C) Because in 1607 (D) It was in 1607
Gilbert Stuartis considered by mostart critics____grea-
stest portrait painter in the North American colonies.
(A) the (B) as he was

(C) who was the (D) that he was

He is indjfferent  hardships and dangers.

(A) of (B) from (C)to (D) in

Music often ___us of events in the past.

(A) remembers (B) reminds

(C) memorizes (D) reflects

One of the  Black poets in America, Lucy Terry,
was a slave in Deerfield, Massachusetts.
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(A) first (B) first was
(C) first to (D) first was the

6, As the safety measure, the detonator fora nuclear device
may be made of _ each of which is controlled by a
different employee.

10,

11,

12,

(A) two equipments

(B) two pieces of equipments
(C) two pieces of equipment
(D) two equipment pieces

A child in the first grade tendsto be _ all of the
other children in his class.

(A) the same old to (B) the same age than
(C) as old like (D) the same age as

Bronze __ with use or grow brittle duickly, as copper
does.

(A) not bending (B) that does not bend
(C) does not bend (D) to not bend

__in the United States was set up to train men in
theology.

(A) Many school (B) Many a school

(C) Many schools (D) A many school
I am aware, there were no problems during the
first six months.

(A) Except that (B) So much as

(C) Much more than (D) As far as

Jack didnt like driving on the freeways, but after a
while he  it. - ’
(A) got used to (B) had got used to
(C) used to (D) was getting used to
I i‘nte;nded ____ the matter with you, but I had some

« 10 -



13,

14,

15,

1s,

‘17,

18,

19,

guests then.

(A) discuss (B) discussing

(C) to have discussed (D) having discussed
The house suddenly collapszd while it down
(A) was pulled (B) was being pulled
(C) pulled (D) had been pulled

Most foreign students don’t like American coffee, and

°

(A) Idon’t too (B) either don’t 1

(C) neither don’t I (D) neither dol

____the fog, we should have reached our destination.
(A) Because of (B) But for

(C) In case of ' (D) In spite of

Sometimes __ to place physics and chemistry into
seperate categories.

(A) is difficult (B) it is difficult

(C) difficult (D) that is difficult

The businessmen strolled through the park __ plans
for their new company.

(A) to discuss a

(B) being discussed

(C) discussing

(D) while they Qre discussing

The fruit delivered directly from the orchard was
also delicious.

(A) not only ripe but (B) not only ripe and

(C) only ripe (D) as ripe as but
___'_,amechanic and farmer, Denis received an interest

in practical science that stayed with him throughout
his life.

o 11 o




20,

21,

23,

24,

25,

26,

(A) His father (B) His father was

(C) From his father (D) It was his father
There was ___ dust that we couldn’t see what was
happening.

(A) such little (B) sucha great

(C) so many (D) so much

____wants to stay up and watch an old movie on TV,
(A) A charming little Italian girl

(B) A Italian little charming girl

(C) An Italian little charming girl

(D) A little charming Italian girl

The worldwide race to develop an affordable synthctic
fuel has so far consumed billions of dollars and
few results.

(A) hasa yield of (B) yield has

(C) yielded (D) yielding

Thanks to modern irrigation,crops now grow abundantly
in area5 where once___ cacti and sagebrush could live.

(A) not the ] (B) nothing but

(C) none other (D) nor

The capacity for flight _ insects from the other in-
vertebrates.

(A) which distinguishes (B) to distinguish
(C) djstinguis}.les (D) distinguishing
Variables such as individual and corporate bebavior

nearly impossible for economists to forecast economic
trends with precision.

(A) it makes (B) make

{C) makes it (D) make it

“Have you ever gone water-skiing baforeg” % Oh, yes
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